Вариант 1.

1. Выполнить действия: а)-2,5+7,8;  б) -7,2+(-0,8);  в) 3,75-4,9;  г)  -2,7-(-5,8);   д)  -16-3
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2. Найдите значение выражения:   а) (3,85-19)-(-37,3+12,15);    
[image: image2.wmf]÷

ø

ö

ç

è

æ

+

-

+

-

14

3

3

7

2

4

2

1

1

.
3. Решите уравнение:     а) х-7,9= -15;       б) 1
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4. Найдите значение выражения:  а) -1+2-3+4-5+6-7+8-9+10; 

б)  0,1-0,2+0,3-0,4+0,5-0,6+0,7-0,8+0,9-1.
Вариант 2.

1.Выполнить действия: а)-3,7+6,5;   б) -5,9+(-0,7);  в) 4,25-8,9;     г) -6,8-(-9,7);   д) -23-7
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2.Найдите значение выражения:   а) (8,25-24)-(-48,69+13,54);         б)
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3. Решите уравнение:    а) х+8,7= -19,2;              б) 5
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4. Найдите значение выражения:

   а)    -1-2-3+4+5+6-7-8-9+10;
   б)    -0,01+0,02-0,03+0,04-0,05+0,06-0,07+0,08-0,09-0,1.
_1162033443.unknown

_1163835711.unknown

_1162033773.unknown

_1162033844.unknown

_1162025633.unknown

_1162032191.unknown

_1162025191.unknown

